EARAROBEEIERT — 2 N— IBISH —F

20155128218 (A) 9mEKIR6H

mgf:ﬁgu A—#8 52— B
[A&4£] 1 7 :800,000  ~ 23#&:160,000  ~ 33#&:80,000H ~ 43#&:56,000™ . 5 3&:24,000 ™
& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
N TR — :56. —1-1- . — RIEZAI (KR
1 o 2B KT R B4 ik 1(5_6)2 2-1-1-1 | 39.3 1 (454) o=y
RZAZXHT R BTVEANRY vIL T2 RE
i S o6 | BT 1:56.3 6-5-4-3 |39.1| — 2 496 | RIIRE (KR)
2078 7IN=—R1>37 56.0 (3/4) (-4) |AREXT
RN=YIF14 B:TY—XFIA bk EUFHT7— L
P T > 5 | WA 1:56.7 4-4-4-3 | 39.5| — 4 483 | EEEREE (KR)
3177 T7A4727T Ly b - 56.0 (2 1/2) 1) | Bl
LY/ by THY BTIRAY3a7 HET7— L
S S — 4 6 | HER 1:56.8 3-1-2-2 [39.9| — 3 488 | HEE (KiR)
4lglo|vno%TY 56.0 7 (o) |WEEZ
R:FA—TANT N BiRFA M) —2%— =igin
SIS o9 | BIAE 1:57.7 9-9-9-7 |39.6| — 9 520 | =EE#E (KR)
EH3 FURRY v 56.0 ®) W | AEE—
SIVZTLNAF BRI/ -4 7 -5
> S5 2 s o7 | KHFE 1:57.8 7-7-6-6 | 40.3| — 7 502 | BAIEE] (KiR)
65|5|YTHIAx—2+ 8.0 @) (o) |KREXF
R:vA3x)ELI N B:aRTXbIA— SHBE
o i 8 | BRERE 1:58.3 1-3-3-5 |41.3| — 5 508 | fEEEEE] (KiR)
9 s R 57.0 @ v | TR
AN w4 =T BRI PMT—h i vie]
. . mAlxRE : —6-7- — iR ()
8 4| 7IUHNE— o7 56.0% 1(.15/82.)4 5-6-7-8 | 40.6 6 5(2;5 i
RTITRREXRAL BiF—s— 75> Fifis
S 4 > 4 7 | BAEBIEMR 1:58.9 10-10-10-9 | 40.1 | — 8 465 |HEE (KR)
9011 ESR7ET N — 56.0 3) (-2) REEEA
L:T7htEy b By by FRE%S
JILS 4 — 46 | AKIBE 1:59.6 8-8-8-10 |41.6 | — 10 | 441 | FEBX KR
10/8|10| LT F VI x 67.0 @ o | SEEE
R:h—t>&2Z2 B:A—ZXIINT SE77— L
® 1—F—@EBIERL
1T=7r= 6,2,9,7,4,8,5,10,3,1
23—F— (2,9),6,7,8,4,5,10,3,1
Ja=5= 2,9,6,(7,8),5,4,10,3,1
43—+ — 2,9,(7,8),6,5,3,4,1,10
[ N5
B 2 140 714K 2-8 140H e E 2-7 1604 JEE 2-7-8 480M
B B 2 1004 2-7 230M B = 2-8 270 EE 2-8-7 1,180M
8 120 7-8 270M B H 2-8 390M
7 1609

ABICOVWTRDTEEERROODE. TR LIV,




